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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 2 hours Maximum Marks : 80

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Carar@ml euens eflarmdgmer

Read the following instructions carefully before beginning to answer the questions.
aflenés@péeE ellen_weaflss AsTLri@h apeant| Spssam . 2idle|emrsamer SUaTONS Lilg &S L.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Qs aflenssdler yar urdarflar curisenssafie, @paysGanu Comeuliiger GuanT
umella il euTTEHmsa (@b <L k@L. '

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

Qns  enmgdsrglliomen sarsraflliurerfer epodl GumeusneE @pearart  Snsssalng.
sansrasiiuiunert ellamgdgsrgliiamen nliusneE oiaindl sieflsse e mﬂam&,@ﬁ,n@ulﬂlmm Sobe)

eflenL_wiaflées Qgm_misemib.

1.  This question booklet contains 80 number of objective type questions. Prior to attempting to

answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained.
Qeaefamsgrar 80 Garerghl cums ellamssmer GararLgl. efamariugmyrser aflenwieflss
Qam_ru@h aper, elamssrald edoor elamss@sd @b Quppderaeur aau@msLb, gCsaid S
ubgtiser / ellamssdt FflLuLmoed elGul@dretarour eramUemgud sfluriigs Gamrdreareab.
dlemssraiier gCsanb @amn G puder eleamssrener’s Qubm e LGE BIEL_RSEREEGT =60
sansrentluurerflb Qgfelss Cauar@Hn. isnE YnE GsfalssiuBn Carflémasd ggib gnmd
Qamerar i om L g,

2. Answers all questions. All questions carry equal marks.
Siemeansg eflamssEns@n ellowaflss Couamrpb. margs flamss@Enn swwren WHGlLieTser
Q& mer_eneu.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

Aarasriugmier LSQeusmeananr Geialammggmetar Cud g ussgdle sHEsa asa 1L [HdraT
B &8 er(ps Ceuamm(b. eflanmgsrafled Coum eTepgUb eT(PHS Fal 5. ‘

The sheet before the last page of the question booklet shall be used for any rough work.
eAamnggrefien samL§ LEs5EDE apen usasdla rough work erpdl urigs 2 LCUITEHSES daTeTarayb.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) gaQeurm edemalpEnd (4), (B), (C), (D) ean prenE eflenLsar Qar@ésLul(HeTarg.
eflasrewriiugnyiT Seupdledr gCoaubd e sflwmear eflmLamws Cgiray e Gauar(Hb. RIS
CopulL eflwrer eflenLger g allammailng @@L’Jug;rra; sHHammd, euphle ereuailanL W&
sflunerg eran s PrsCGerr, gdalamLamw Flpadl® amL Geuar(wb.

(b) erquaundmLGa, ¢ elameilnE @Cr e eflaLmws srar CaibsHés Calam(Hib.

© om damdps gamée CuiulL el ksald oL wefidsiulgEhsTd SelmL
geuprengns &msLUL ), cusiamaine wdiQuerr aupmsiLL DT LTE. ‘

(d) OMR e g srafler ghlssiu L sflurer eflentsmery Qurmgg, Qurgs wHLGUGTsHET
aphstLpL (@@ elamalhe en e Lo (GHuElL) e el wi GG UG
aukIS samsdled aT(HSgs dararaniLi(Bib).

Do not mark the answers in the Question Booklet.
afermsgratlay eflen_senerd GOILIALE sal_Tg.

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

e iLgmy, edamgsrailar abs @@ UssSMSUD, BesGaur Swas SPssCar eang. Csia
pe_Qumib Gurs), elamssraar Caire] sl fangell () GeuafiCu ahids Cede g Sl wirg.
Gsiray apighs GenarGr elarmsgrane arhisgis Aede aindssiu@eur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cupsar_. ofe@rsaid ¢Csaub Bpiu@Couramed Cgraurmanubd adéeh garamar /
BLallq &an&sE 2 ererns GriflHib. '

In case of doubt, English version is the final.
eflenmésafes s5,CssL0@mLIG6, yhde agelld Qar@asiu’Gerer efamésGer GmSlwmeang).
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L.

o

What is the density of Water?
(A) 100 kg/m®

(@ 1000 kg/m?

® Bifletr i_réH) ereman?

(A) 100 kg/m?®
(C) 1000 kg/m?

What is the density of Mercury?
(A)- 13.6 kg/m3

(9 136.0 kg/m?

Qi@ Muller oL &Sl eremen?

(A) 13.6 kg/m3

(C) 136.0 kg/m?

(B)
®)

B)
D)

(B)
(D)

(B)
D)

(A) Water
(C) Foam (D)
19 eimeu (HeuaTeLDMIET aTgy) Sifls ALTHS Clanem. g ?
@ g ®)
©) meor (D)
In whigh substance water can float?

Mercury (B)
(C)  Foam D)
Qe peuareuhmier arled Bir LB5&E0?
(A) Qi (B)
(C) manr D)

What is the vapour density of Methane?

(A) 556

(C) 1.556

BsCaen eumyyadan 2,68 LT eremen?
(A) 556

(C) 1.556

10 kg/m?
10000 kg/m?

10 kg/m?
10000 kg/m?

1360 kg/m?
13 kg/m?

1360 kg/m3
13 kg/m?

- Which of the following substance has high density%
K Mercury

0il
Gl

JETRT =)

0il
(&) (B) and (C)

< ullédy
(&) (B) wpmid (C)

M}.556

D)

(B)
(D)

10.5656

0.556
10.556

029/DD/18
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6. Which of the following gas has low vapour der?
Methane

(A) Air
(C) COq (D) Propane
ameu(meuaieuDMIET 6Ths eum Bl& Ganhs el BLT&Sl Clasmer_g?
A)  smHm - (B) 155Czen
C) CO: - D) yruGuer
7. Water is the boiling temperature of water?

A) 10°C ; (B) 1000°C

- @ 100C (D) 110°C
Biflen Qardlflena ereman? |
(A)  10°C ; (B) 1000°C
(C) 100°C- (D) 110°C

8. What is the freezing point of water?

0°C B) -10°C
(C) -100°C | (D) -110°C
Bflen 2 pBlenay eretran?
@ o0c B) -10°C
(C) —100°C (D) -110°C

9. ps the gravity force of Earth?

9.81 M/s? (B) 981 M/s?
(C) 0.981 M/s? (D) 98 M/s?
yedririy eflens eresren?
(A  9.81 M/s? . (B) 981 M/s?
(C) 0.981 M/s? (D) 98 M/s?
10.  What is the Unit of work?
(A)  Watt | ( Joules
(C) Newton (D) None of the above
Ceuameudlen ojen (3 erTemmen?
(A eurl (B) sl
©C) FPuylier : D) @aupdle ergidlerena

029/DD/18 4



11. ?ﬂy foam type-extinguisher is available by?

12.

13.

14.

15.

6-9 liter (B) 8-10 liter -
(C)  3-9liter (D)  4-8 Iiter
B Lpanuile) pianreuamsd Sweaeanriurer erggamen el LM HanLsdlemmen?
(A)  6-9 Sl i (B) 8-1068Lir
©)  3-9&Li D) A8

Portable Fire Extinguisher manufacturing, install and maintenance is controlled by?

BAFE (B) FIRTO
(C)y TET | (D) AFFF
- aThssE  OQedasmuyw  Sueariuraiseflar 2 pusH, GuImssisd wHmD  uFTLfsmen
ELHUUBHSFID ienoliL] 618 ?
(A) BAFE (B) FIRTO
(C) TET _ (D) AFFF

How many types of Extinguishers are availal?
: 151

A 4

< 3 : (D) 6
STHFENEM GUEHSHIITET SWIEHERTLILIMGNEET 2_6Teren?

A 4 B 5

€ 3 (D) 6

- Duration of discharge time for more than 10 kg or 10 liters in water, foam and other?

(A) 30, 20,9 B) 45,30, 12
© 10,10, 6 P 15,30, 15

10 &ldl oeveg 10 alliir Csrararerey Gsrawe £, mey wpmb Gp Sueaentiurersetles
CeuaflGummib Cryib eréiauera,? _

(A) 30, 20,9 (B) 45, 30, 12

(C) 10,10,6 - (D) 45, 30, 15

9 kg Dry Powder Extinguisher discharge distance and time duration is?

(A) b5Sm 14 sec (B) 4m 16 sec
6m 15 sec (D) 6m 10 sec
9 414 erenLwyamer 2_aiomra SweanriLrarsaien QeuallGubmib Gsmenaey LHMID &M 2jeTey cTerar?
(A) 5m 14 sec , (B) 4m 16 sec
() 6m 15 sec (D) 6m 10 sec
5 029/DD/18
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16.  Which of the following is an example of class D fire?

(A)  Organic Nature (B) Foam
Metals ‘ (D) Gaseous
' Esar_eunmier D cuams § elugdnG 2 smyed eTena?
(A 2.u9fuded Gurr@l__'_assh . (B) meny
(C) e Camrsbd (D)  aumuy

17.  What is the pressure of water (gas cartridge) Extinguisher?

(A)  9bar (B) 8bar

(©  11bar 7 10 bar
GerLn sifleg SwamenTiLmafler (WSS ereme?

(A)  YQunm | B) 8Bumr

©) 1lumr (D) 10unmm

18. For Oil fire which of the following Extinguisher is used?
(A) Water | 22 Foam

(C) Powder (D) Halon

Epaam_cunmer eradlenTil cuans e SeaTss Ul (s Hn Sumemriume ereneu?
A B B) mer

(C) oemomey ] (D) ammeverr

19.  Abbreviation of AFFF?
(A)  Aqueous Forming Film Foam
M Aqueous Film — Forming Foam
(C) Foam Aqueous — Fiim_ Forming
(D) Forming Film Foam Aqueous |
AFFF cremuisgen Afeurssid
(A) Aqueous Forming Film Foam

(B)  Aqueous Film — Forming Foam /
(C) Foam Aqueous — Film Forming
(D)  Forming Film Foam Aqueous

029/DD/18 6



20.

21.

22.

23.

Select the suitable material for class D Fire?
(A)  Sulfur, Mica, Carbon
(B) Acid, Gas, Solid material
® () Paper, Wood, Clothes’
Magnesium, Aluminum, Titanium

D auems Sumanmiurgiée durmgsomer dummlsamer Cgiey Calis?

(A)  Feurm, &S, HTTUET

B)  =pfeb, eumy, S iGumLser

(C) -snélsid, b, sienfleer

D) Qusafdlwb, sigfiaflub, e Lrelwib

How to find jet reaction?

(A) R=0.157Pd

&’ R-0.157Pd

Qe Mwirdeen ereuaurm sar_Mluiiubéng?
A) R=0.157Pd

(C) R=0.157Pd?

What,is the unit of Jet Reaction?
Newtons

(C) Meter

Qegl” Mwmrdaenem o|6T& @D o160 6T6Ten?
@) Pyl

(C) Biow

When the water hammer can be happened?
(A)  Sudden increase of pressure
(B) _Sudden decrease of pressure
Sudden close of delivery branch piped
D) (A)and (B)
eru@umpg eurl_L i Camiom qﬁ;u@ﬁm@? '
(A)  Selrar HafsEn <i(pssd
B)  Felrear Geond@b Sipssh
©)  SheQrar 197EHé UL SHenLLILSTED
D) - (A) wpmid (B)

(B)
D)

B)

D)

(B)
D)

B)
D)

R=0.157d
R=0.157P°

R=0.157d
E=0157F

Pascal

&.4)

LIMGSH6D

029/DD/18
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24.

25.

26.

27.

Which one of the following gauge used to measure the pressure?
(A)  Bourdon Type |
(B) Diaphragm Type
(A) and (B)
(D)  Ring Type
Ylemeu(meuameudmIaT THS G jemall B(PSS5ens 2jemds Liwenu (Hlng?
(A) unfLer auans
(B) e wmlyb euens
(C) (A wpmybd (B)
D) A cuens
~Which one of the following is used to measure the flow rate?
(A)  Vernon Morris hydrant testy
(B)  Bourdon wheel flow meter
(C) Electromagnetic flow meter
(4) (B) and (C)
Epsam_eupmer arger apaid GeuafiCumib serrantT jerai(h GewiuGEng?
(A)  Qeurremit Glorflev enamig Qlyesr Ql_sivig
B)  uniLen g&&r UL b B LT
(C)  aas CrrGiosCeigé e L 1b BT
D) (A B wpmn (C)
What is the equél value of atmospheric pressure in Newton’s?
(A) 100300 N/M? (B) 100400 N/M?2
47 101300 N/M D) 105000 N/M?
auaflarL e Si1pSssHan @emanmumer Sl L 6T SiaTey 6Teet?
(A) 100300 N/M2 (B) 100400 N/M?
(C) 101300 N/Mz2 (D) 105000 N/M?2
What is the practical suction 1ift?
8 meter ' (B) 10 meter
(C) 5 meter (D) 4 meter
FTSEDTEN 2l EH&D /6T6 6T6wmen?
(A 8Bor (B) 10600
(C) B BlLr D) 48w

029/DD/18 . | s



28.

29.

30.

31.

What is the theqretical suction lift? _
(A) 9 meter m meter

- (C) 8 meter (D) 7 meter
BBy 1q 66 Qsdsen I craen?
A 9B B) 10 i
(C) 88 ' ' M) 78

What is the suction lift in mercury?

(A 720 mm (B) 750 mm
760 mm (D) 780 mm

Quwr@tuler Cesgsm 601 ereiian? 4 '

(A) 720 b (B) 750 8

(C) 760 S (D) 780 85

Where the frost value is beiﬁg used?
(A)  Fire Tender
(B)  Fire Pump
(C) _Fire Extinguisher
Fire Hydrant
ACrmevL aumdey i@ LWeTURSmE?
A)  Swenanriiy amfrﬁuﬂ]eb
(B)  §uby
(C)  Swevemriiumen

(D) el epamig e’

In following, which are causes to damage to the rope?

@D Cuts and Contusions (II) Overloading
(IT1) Heat (IV) Chemical attack
(A) (D and (III) only _ (B) (1), (II) and (III) only
©) @, dD, aV) only : y (1), A1), (1) and (IV)
Spsa_cunble suln Casb oienL_asDHaETeT STFeaLd
@D Qeul’ (Hid HMID BEHESHOSHET (II) <=5 sew
(III) Qauiub | (IV) @rsnue smiEsd
Ay () and (III) wc_ @b (B) @), (1) and (III) w_@Hw
© @ d), AV) vi@nd D) (@, D, dII) wpmwb (IV)
9 029/DD/18
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32.  In following, which is not correct? _

(A) Wire'rope is a combination of steel wires arranged around a central fiber core
(B) The “right hand lay” is réferred by the symbol “Z”

M The size of a rope is denoted by its nominal length
(D)  The “Left hand lay” is referred by the symbol “S”

Sipaant_eubile ereney siflwimeg oeen?
(A) a0 sy ereug) Sanut CaTT SHO 6T o@ SibAsemar Camair_g)

(B) aeguypsuiin Yeaeamd Z farangsre GnlssuuBdns
©C)  qmaslpdler sarey sigen duwreredle @hlésiiuBSng
D) Qs up sy fenered S erargsme GHlEsUUBS DS

33. The standard length of lowering lines is

40 meter ’ (B) 50 meter
(C) 100 meter (D) 130 meter
Ceoomuifiis sudpdlen Hlenewuwimer Harb
A) 40 B8Cis B) 508
(© 100 B ' (D) 130 B

34.  The length of purpose lines is

(A) 50 meter KBO meter

(C) 100 meter (D) 6 meter
uie sudlmbler Berid

(A) 50 B (B) 308w
(C) 100 B (D) 6B

35. Usually Short line is
(A) 6 meter (B) 10 meter

y 15 meter (D) 20 meter

CUTEeuTs FTT_EDAET eTEILIS)
A) 680w ' (B) 108 o
(C) 15 B (D) 206w

029/DD/18 10



36.

37.

38.

39.

Which Line is used to steady a person being lowered?

(A)  Short Line J ) Tail Line

(C)  Guide Line (D) Personal Line
ety SCLp @n&s erbs suin LweaLHssUUBHEDng? '

(A) sl eneverr B) Qe enevar
©) @s® mear ' _ (D) Qursened enaver

Which of the following are correct?

(D Fireboat lines are usually 200m in length
(II) A tail line is about 6m long

(I1I) A guide line should be 60 m long

(IV)  Short lines are usually about 15 m in length

A) (I and (IT) M(I), (ID), (III) and (IV)
(©) (3D, d1I), and (IV) (D) (), dI), and (II)

Epsanr_cubdled sflwireng erencu?

(D Fireboat sulimy Gungeurs 200 8 Searbd Qareir g
(II)  Tail line erenuigy 6 18 Sarid Camenm_g

(III)  Guide line ereiig 60 1S Bemib QamenrL_gy

(IV)  Short lines erenuig) Qugieuns 15 5 Herid Qameirg)

@A) D wpmb (IT) B) @, dD, dID) wogw (IV)
(©) D, dI), wpmb AV) @) @, D, wpmub (I1I)

“Thumb Knot” 1s alsok_nown as

Overhand knot (B) Reef knot
' (C)' Figure of eight knot (D) Fisherman’s knot
SLDBTL GTeLIg) eraneid PwILRE g
Q)  garGaner pm B) fompm_
(C)  Saam et el Bl (D)  SwegrCiosmen Bl

Which is an alternative to the overhand knot?
(A)  Reef knot /Figure of Eight knot

(C)  Fisherman’s knot (D) S]iding double overhand knot
geurCanar_ B —&@ LIy 1pig&s eTgl?
A) fuprl B) s gyl erudl prl
©C)  JlagrGuerev ; (D)  Sevavigi L1e @GLIIT@Q_IT}GETI;[_F;ITL
L) 029/DD/18
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40.

41.

42.

43.

Which is an alternative to the reef knot?
Fisherman’s knot '

(B) Thumb knot

(C)  Overhand knot

(D) Figure of eight knot

T il ~&@ LIHm P& e1a)?

(A SlegrGuenen

B) g pr

©) eqarCansn BTl

D) SGsr el eruhl B '

JCDD stands for

; Joint Committee on Design and Development of Appliances
(B)  Joint Commission of Design and Development of Appliances
(C)  Joint Committee of Development and Design of Appliances
(D)  Joint Commission of Design and Development of Apparatus
JCDD aréru |
(A)  Joint Committee on Design and Development of Appliances
(B)  Joint Commission of Design and Development of Appliances
(C)  Joint Committee of Development and Deéign of Appliances

(D) Joint Commission of Design and Development of Apparatus

Which element is not in ladder? _
(A) Head . (B) Heal

S Tierod (D) String

eremfludled 2_miL| SHDTSHF eTenau?
(4)  GanC B)  abad

(C):  enwgm_ D) el

. What is the BS Number for Extension Ladder?

(A)  BS-2030 - ~ (B) BS-1037
7 Bs-2037 (D) BS-2020
Blg iy eremfludiey BS erator eremen?

(A)  BS-2030 (B) BS-1037
(©) BS-2037 (D) BS-2020

029/DD/18 12



44,

45.

46.

47.

Short Extension ladder weight should not more than P-3

A)  22.5Kg (B) 28.5Kg

© 23.0Kg _ 24.6 Kg

Avlw By genfludien erent_ui ITrEMQj. P-3 Cied @) (més st g)?
(A 22544 ' (B) 28.5 44

(C) 23.044 (D) 24.6 A4

What is the sma.ll extension ladder length?

5.6 mto 6.7 m (B) 5mto6.5m
(C) 45mto7.0m | D). 6mto7.5m
By iy grenflulier Berid ereimen?
(A) 558 fmps 6.765 B) 58 dmbg 6.5 18
© 458 Amps 7.0 58 D) 65 Smpa 7.5 5

What are types of Extension ladder?
(A) 9m, 10.5m, 20 m

M 9m: 10.6m, 13.5m

10 m, 20m, 22 m
(D) 7.5m, 10.5m, 12.5m
Big iy granflufler cuen e eremar?
(A) 918, 10.58, 20 &
(B) 918,10.58 13,58
(C) 1045, 2015, 22 8
(D) 17.518,10.5 15, 12.5 8

What is the breaking of 13.5 meter extension ladder?
(A) 1.0 Ton (B) 1.2Ton

/ 1.3 Ton (D) 1.4 Ton

13.5 Bl Blig (1 gramfludicir 2_enl_ento Lie; erevnan?
(A) 1.0 var B) 1.2vien
(© 1.3ier D) 1.4Len

13
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48. Whatgs the length of Roof Ladder?
j 4.5 meter

©

5.5 meter

gacny erenfluflen Hemb ereman?

(A)
(©)

4.5 5L
5.5 B

49. Maximum weight of Folding Ladder?

(A),

(©)

LD1g LI

(A)
(©)

16 Kg
20 Kg
ganfluder siflsiu’ s eren
16 £l4l
20 £é

t is the weight of Hook Ladder?

50. Wha
/ 13.2 Kg -

(C) 15.2Kg
Qarsd) eemfluflern eTenL eTemmes?
A) . 13.244
(C) 15244

51.  Which material is used for flashing and roof metals at 372°C and therefore presents a

B)
D)

®)
(D)

5.0 meter

6.0 meter

5.0 B
6.0 LJSI'_L_fr.

46(18 Kg

D)

(B)
@)

®)
)

(B)

@)

22 Kg

18 £4
22 &4

14.2 Kg
16.2 Kg

14.2 44
16.2 414l

danger of molten to firefighters working beneath the roof?

A

ahg Gurmener Lweru(Hgd Conamampuiear ienwsdmeEhd Gurg g 372°C—é 2 HAGD Hlepaw
gHu@b Curgl oips swwgH Sweariy alfrad amamuier S uamflyfaugs LGms eflenarelléELD.

A
(B)
(©)
(D)

029/DD/18

Copper

Smolyb
SISHHTED

Smfub

Gouamseah

14



52.  An incombustible material is one which neither burns nor gives off inflammable vapours
when heated upto

(A)  500°C (B) 650°C

® M 750°C : : - (D) 850°C
.‘%I’;QBSGGIHTI_ erhg Gauliublenauie erflurg, efludsmigw eumyssamer CeuelliiuBssns CQummenar
erflwrgbleney erem ienLp&El Cper

(A) 500°C ' (B) 650°C
(C) T150°C (D) 850°C
53. How many types of flame retardant treatments for timber?
/ Two _ (B) Three
(G Four (D) TFive
TS S 6nL_SEneT 2 (HEUTHGLD GUL(LPENDEHET 6T&SEnEH ?
@ @rend - ® e
(C) preng D) @b
b4. Limestones are composed principally of

(A) Sodium Carbonate
(B) Magnesium Carbonate
(C) _ Calcium Chloride -
Calcium Carbonate
sETERTTbL &5 SpSamLcupbled ereuHenm Q_Gi'.fﬂTl_éSBC:TlLlfg]?
A Gomguwib smiLGant
(B) Quéaafflub smiruCen
(©€)  sradub gGermai()

(D)  sredlug srruCen

55. Melting point of Bronze is

(A) 500 °C (B) 700°C
1000°C (D) 1500°C
Ceuarsngsler o m@hlama
(A) 500 °C (B) 700°C
(C) 1000°C (D) 1500°C
15 ' 029/DD/18
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56.  Which is incorrect in the following statement:
The advantages of using aluminum alloy in the building are:

(A)  Areduction in the weight of the structure-
(B)  Resistance from Corrosion
(C)  Ease of handling and working
Low strength to weight
EpaaL sapmisaie geuprang) erg?
&L Ig L Risatled gl e Lweu (HSgIeugTe) e (BILD HETen &eT
(A)  slyL sl aranl GdDeuns @HE @D
B) TS mbs) LngisEED
(C) Cauemasefle enswmereug) ereflg)

(D)  eusblentp oMM eTenL_ (HEDDHEUNS @@é&@tﬁ

57. Melting point aluminum is
(A) 500°C (B) 5500°C
(C) 6000°C J 650°C
Sigileflugsler o mEHlea :
(A) 500°C (B) 5500°C
(C) 6000°C (D) 650°C

58.  Fire Door is
(A) | A fire ﬁnon resistive door approval for opening in fire separation. .
M A fire resistive door approval for opening in fire separation
(C) A combustible door
D) (A), B) and (C)
ool GL_ITT GTamLIg)
A)  §Selugdar Cung Serw sHSEMTg
B) S alugder Curg Saw FH&EGD
(C)  eflugsmiyw s56)
D) (@A), (B) wpmud (C)
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59.  Whatgs the use of complementation?

jli‘o prevent the spread of fire

- (B) To prevent the flood

. (C) Easily evacuation

(Dy  Using for car parking
smbuefGloeanCL ageflem Liwer crénan?
Q) & uradsamer 5H&GWD
(B)  GeuerersSlal@pbg) LTSHISETEEGLD
(©)  erafigrs CeuaflGuimisa
(D) SITIT ﬂ@_gj;g, L6 (BiD

60.  Which of the construction has been classxﬁed as Type-11?

(A) 1hour ﬁle resistance
(B) 2 hour fire resistance

M 3 hour fire resistance
(D) 4 hour fire resistance ,
Type-II euans s (Homesd 615 ?
(A) 1 el Gy SssmhiEd Hmeir
B) 2 wefl Cprb Ss5mHIEGD Smen
(©€) 3 wenfl CErb S&5mRIGLD Smen
(D) - 4 wewfl Gorb S&smmiELD Smen

61. Human body needs a constant supply of which of the followmg"

(A)  Nitrogen (B) Carbon dioxide

(C) Carbon monoxide Oxygen

wefls 2 1a&E Wenaimaiarainble 6rbs e Hlamwrarn auprsd ComaiuGHms)?
(A)  enplysgen (B) smiue—eamL—<daman()

(C) smruer Curarmésanan® (D) <ysedlgen

62. Which part of our body is related to breathing moments?

J( Lungs (B) Spleen
(C) Intestine . (D) Skin
BLogl 2 L eblen eThs L@ seungd dsm_iumeng)?
Q)  meordre (B)  wawremtyed
©C Lo (D) CGsré
17 029/DD/18
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63.  What is circulatory system?

(A)  The body’s breathing : (B) The body’s nerves

(G) The body’-s food processing M The body’s blood transporting
& CaLif flevLib eramug) eremen?

(A) oL eller seursd B) 2L dlen prioysar

(C)  sLelar e awrey Gewerssn . D) orden@rss eLLib

64.  Which type of blood vessels carries blood awayl from the heart?

(A)  Veins (B) Capillaries -

M Arteries (D) Blood cells
ahsaIms QrEs pramsd QsLsHambs Qrissms QaualGu b sg Ceoddng ?
A)  mErbyser (B) mam@pmiser - '
(C)  swerflsar D) EQés emsear

65.  What is the function of blood vessels and capillaries?
(A) They pump blood to the heart
(B) _They filter impurities from the blood
They carry blood to all parts of the body
(D)  They carry messages from brain
@55 premhiseT WHmID gwenflseflen QaweumpHser ereren?
Q)  @usssoms Qsusdne Ll Cslidlng
B) " Qusdsdmiba iessrismen e s Bddman
(C) 2L dlen eravenm LTERISERSEGLD @)Ts580 Camer () Gewdlammer
D)  apenarufladlpig) ssaimea oT( 585 Claadns

66. Why does blood turn dark red as it circulates through the body?
(A) It starts to clot
(B) It gets old and dirty flowing trough the body
The oxygen in it is replaced with carbon dioxide
(D)  Circulate the blood from the heart
2 Lefléb @rssib feuliy Jﬁ[mgﬁm e &l 6u(HEUSDE STyawrid?
(A) 2 onss Asr_mkiGdns
(B)  uenpw wHMID p&sTar QrEssHd Cedeumsad
C)  ysedlmer smlien —aml—opbmen[ — b DIHDLILHaISTE
D) Qsusdamig Qrsssms sbs 10058
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67.

68.

69.

70.

Which part of our body pumps air in and out?

~ Lungs (B) Heart
(C)  Mouth (D) Stomach
B 2 Le0le 6rhs 2 miti srpblener 2 6T whmid GeualGu erég dandng?
(A)  memuiyed B) @b
C)  eami _ D) ey

Which based the amount of oxygen required for human body?
(A)  Amount of drinking water
¥ Amount of work
(C)  Amount of food
D)  (A), B) and (C)
o L a)é@ Caameuwimer 2 sedlmer erens dumm s Geaumiu G ns)?
A) By hHilear sara,
(B) Couameuden oierey
(©) o awrellen aray
D) @A), B) wpmo (C)

Which is affected by Carbon monoxide?

| y-)/Red bibed corpuscles (B) Eye

(C) Stomach (D) « Lungs
 sniuen Guramsma@aflanme LTdssiLGEng?

(A)  Grl Ger sridugd . (B)  seor

©) ey D)  mequliya

What is the percentage of carbon monoxide in atmosphere?

A)  0.001% @70.1%

(C) 10% (D) 50%
auarlar_eidle) sriuen Corearméeanaviqcr 56l ereen?
(A)  0.001% (B) 0.1%
©  10% D) 50%
19 029/DD/18
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7L, Sprigkler system must be fitted with '
X Pressure gauge - (B) Temperature gauge

(C) . 0Oil gauge : ' (D) Water gauge
B Qaefliuime EenemTss UL g (5586 GeuemT(BILD.
A)  apsswred ~(B) Gauliuflenaioma
C) yule Cagy D) el Cag
72.  Which system is executed when the opening of sprinkler head?
Sprinkler Alarm
(B) Emergency lights
(C)  Lift
(D) Doors

B Qaafliiurer Hns@ib Cug) erhs el HeuouBsstiuGdnsg ?
(A) evlAfsor errD
B) sjeusrare clerd@amer

(C) oSl
D) szeysar
73. Alarm signals may be initiated in wHich of the following conditions?

(A) By flow of water in the sprinkler system using an electric alarm pressure switch
connected to the alarm valve in a similar manner to the sprinkler motor -

(B) -~ By using water flow alarm switches in the system pipe work above the alarm valve

(C) By a fall in pressure in the system pipe work above the alarm valve
(A), (B) and (C)

ST FllEmEssmen Wemeu(miD ehg FlLpsaans:E 2 U{HSSOTD?

A)  evaifdisar Hevsdler B gL worarg evlfifisar Gom L gLer Genarssliul L Wlersry
AT SI(PSSEEIL_6 LiweL (HESIUHE DS

B) B @l eésfléms sl daneng edsfldms eumeasE CwGa odrer Grmisaid
vwerBH&s0UHS DS

©C) simmb eumede @ GG 2 drer Glomuder oiWsssHd eipas ahubhissisen

D) (@A), (B) wpgd (C)
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74. Which must be check the sprinkler system wiring and power supply?
(A) The fire brigade connections
(B)  The circuit between the alarm switch and control unit
. (C) _The batteries
(4), (B) and (C)
Bfl GgefluiLimen Sanwolily&E euwfli Hmb Wlenaryib ersamen sMumiss Couar(Hib?
@A) Suwr 90sCal @enantiiy |
B)  Serpb s69CF wHnib SLHLUTH S0EG5E QL Gw 2 drer sHm) -
(C)  GuiMser
M) (A, B) wpgn (C)

75. Which of the following color of fusible metal sprinkler head is had lowest temperature?
(A) Red
(B)  Blue
(C) _Yellow
(g Uncolored . :
- Wemeumid eThs Himd Gembsul s Qeutiu iy fide e Gors Cgaflliunealls saase durmhEID?

A)  Seuliy
(B) fed
(C)  epser

P’ Howips

76.  What is the normal size of sprinkler for low hazard?

(A) 1000 mm
B) 500 mm
10 mm
(D) 200 mm
GophHs & cumnusdparer B Cgefliurafler <jeray eremen?
(A) 10008 :
(B) 50088
© 1098
(D) 20058

21 , 029/DD/18
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Spherical type
(B)  Conical type
(C)  Hexagonal type ' ' .
(D)  Triangular type

7. (ioy‘ntional type of sprinkler head produces which type of discharge?

selleusnganed euens GgaflliLimert erbs euensuliled Hany CleuaflGuiHmdlng?
(A)  Casmrer suensulled

B) Cosmeaw cuamsulila

©)  =mCsomenr euamsude

D)  apsCsmen cuansuid

78. Spray pattern type of sprinkler head produces which type of discharge?

(A)  Conical type (B) Hexagonal type
Hemispherical type- (D) Triangular type

Ggafliiy euens Asafliiune erhg euansuie Heny QeuaflGuinmiflmg?

(A) Gamemr euansuila B)  omCasrem auemsulie

(©) =ersCarer cuansudld D) - (p&Camant auenauilen

79.  Which of the following sprinkler head type is installed along the wall of a room Close to the

ceiling?

(A)  Spray pattern K Sidewall pattern

(C) - Ceiling pattern (D) Convectional pattern

Eparanib orhg Agefluure sums samraE Simdla 2 drer LdsauT [ Feutled Fipeuu@GEng?
(A)  Gsafliiy gpeam (B)  as@eure apanm

(C) - &bl apenm (D)  senCeusnsaned apepm

80. Which valve should be fitted with fire brigade inlet?
(A)  Pressure Valve (B) Return Valve
' Non Return Valve (D) Non Pressure valve
EThg eUTe| o oLiT NGTaH Qenble’ Haer Gleneamabsi g (has Couetr(Hb?
@A) =wss GumaL] (B) ML e euméay
(C) e A Lein eumevey (D) @wsswHD Ut

029/DD/18 22



029/DD/18

Register
Number
. DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 30 minutes Maximum Marks : 20

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
o9\ ifleumen Gﬁlsml_u_laﬂei;@i.b eums el SmeT

Read the following instructions carefully before beginning to answer the questions.

eflennéa@nsE eflan_wallds Qam_miEh upei| Spsaar. oiple|@yseaT S IETLONES Ly &&a]LD.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

eflenL_sener @O [Harer aramenflianss@ oiflswna erapdudmider, eflan_sgmeflen @mdlulleh 2 drar
<218s erament| Gensufevmer eflent_sar wHOIGH Gl rg).

2. In case of doubt, English version is the final.

silamasaficr spCaalmuden < mdlo aigeald derGssiiul Berear dilamssGar @mdwmens.

Answer any FOUR of the following questions.

araneuGuignid mren@ Caerellsend@ eflan_weall&sea|b. - (4 x 5=20)

1. What are the causes for damages of Chemical suits?

@yrariuent 2 &6 G&SLDENL_GUS NS TEN &I 60T BIGET WITana?

2. Write about any five types of sprinkler heads?

gCaaib gig Bregalurasdr upl er(ps)s.
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" 3. Describe the items all appliances normally carry in Water Tender for pumping pﬁrpose.

Qurgieurs Srgmad éﬂ:ﬁﬁﬂda B QenmliLi&E er(HSg) G]&ebm@euéﬁrrrqm 2. LISTETRISET Fa )57

4. Write the five principal laws governing loss of pressure due to friction? o ' .

o miiey STTETLIE S(PHS Qi gHuBeusnaTan Bbs) @;sé'crrsmmmrrm sryeanflaamer er(pgis.

5. Explain the Properties of metals.

o Ceonsnigafler LaTLgmer efleul.

6. What are the good qualities of foam?

i) cr.fssrrasr IBGUG) (GEMTIRI&ET GTETen ?
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